[ Efficiency vs vertpos |
- 05

20.45
4
2 04
(8]
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

.................................................

.................................................

.................................................

ettic

1072 10 1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_XiMinusNOPU_base
Efficiend —— poMm_CKF_xiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3

~ 0.5
T S R P R

A T
L R e e L L SR
> E : : : : :
2 E : : : : :
TR S S S
o F . . . :
e R S s S
o E : : : :
O R S
0.2 oo oy o

0.15F------ .- .......
0.4k ------ ...... +
0.05F b oo
.0

Ratio
N

20 30
TP vert z (cm)

o
I8
o
o
|
N
o
|
o
o
[y
o

[ Efficiency vs. sim PV z |
~ 05

L O s
D-04'5:_".' """""""""" fTTTTTATTTTTmreet
£ o :
D 045—' """""""""" A
£0.35F - wkeeesieeer e R SRR SRS
P E : :
2 0.3F b S N
o E : :
3] E : :
£0.25F ki R
02k * :
TS O LT R SR
O SO T .
O B RSt SITR SRS SRS SRS
A S PO PUUTN PR FUUTE I FUU
2 : :
< r : Tl HiEs
o ro : b
| Rl aaan 1 it ) N .
0,950 | il . ; :
=20 -15 -10 - 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


